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1. 

 

a) 

 

i)   3 : 1 

ii) Bottom view 

iii) plain scale 

iv) parabola 

v) flank. 

 

 

 

 

 

5 × 1 = 5 
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 b) i) d)  welded joints 

ii) c) cotter joints 

iii) e) transmission of power 

iv) b) lead screw of a lathe 

v) f) coupler of railway carriages 

 

 

 

 

5 × 1 = 5 

 

2. 

 

a) 

 

THREADS 

INCLINED LETTERS = 75º to the right side 

 

 

DIA 

 

 

 

T = 6 : 6 

 

H = 6 : 5 

 

R = 6 : 5 

 

E = 6 : 5 

 

A = 6 : 6 

 

D = 6 : 5 

  

S = 6 : 5 

  

Construction of graph 

Letter writing 
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b) 

 

 

PLAIN  SCALE 

 

 

R.F. = 
500
1  

 

M.M. distance = 70 metre 

 

Mark a distance of 46 metre on scale 

 

Length of the scale = R.F. × M.M. distance 

 

 

=  10070
500
1 ××  

 

= 14 cm 

 

 

Find L.S. 

Construction of scale 

Marking distance 
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3. 

 

a) 

 

 

CONCENTRIC CIRCLE METHOD 

Major axis & minor axis 

ratio = 3 : 2 

Major axis = 135 mm 

Minor axis = ? 

Minor axis = 3 : 2 = 135 : x 

3x = 2135 ×  

x = 
3

270
3

2135 =×  = 90 m 

AB = Major axis = 135 mm 
 

CD =  Minor axis = 90 mm 
 

 
 

Construction of ellipse 

 

Dimensioning  
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b) 

 
Point P at a distance of 20 mm and 15 mm from the two 

asymptotes 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Construction of rectangular hyperbola 

Dimensioning 
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1 
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4. a)  
Aligned system of dimensioning  

 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



72 6 CCE RR 

    RR-XXIII-8020     

Qn. 
Nos. 

Sub. 
Qn.No. Value Points Total 

   
Unidirectional system of dimensioning  

 
Aligned system of dimensioning  

Unidirectional system of dimensioning 

 
 
 
 
 
 
 
 
 
 
 
 
 

1 
1 
3 

 b) 

 
Front view 

Top view 

Side view 

Dimensioning 
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2 
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7 
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5. 

  

Draw the Oldham's coupling to full size 1 : 1 size 

 

Copy the sketch to full size  

Dimensioning  
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2 

10 

  

   
 


